MW 61%°0 PIPod W1 6LY0 PI0od M 610 2100d Wi 61¥°0 I09d

WA Z¥L°0 9I02d

19|09

WL

:9|09g

WL

MW 6770 9IPYd W 67E°0 9I0%d Wi 9GS0 :910d Wi 9GS0 :9109d

MW 61170 9IPYd

Wi €28°0 I02d

Wi €28°0 I02d

‘HA ONV1d
JoLNyv

‘0LDdA0¥d T14d OTNLIL

JLN3OIA VNOWNVO dIAVAd

Vd3yddvO 30 NId 0L03A0dd
VTIIAIS 3d STTVIFLSNANI SOJINOIL SOHIINIONI 30 VI13INOSH

Z dVYIIdINN YIWIANOST

‘ONVId 4d oN

‘0LDdA0YUd 9d oN
SIHOAVIN SYNOSH3Id Vivd V] 3d O4LN3ID NN N3 VOILOWOA NQIOVIVLISNI

VIVOSH
‘VHOHd

-
F3 A -
- RZ1 0.6/1 KV 3 G 25 38 m
g —
g O Icale.: 18.2 A Iz 265 A _ A2 -
- 7 Bajo tubo. DN: 20 mm _ )
= T3
R U: 58 % Ua: 591 % 2
s A
= >
F3 B FUERZA 3 —
ol RZ1 0.6/1 KV 3 6 4 50 m RZ1 0.6/1 kV 3 G 10. Puente
S O | cale: 18.2 A 1z 36 A \\3 | calc.: 52.4 A 1z: 65 A
- _J
hledt Bojo tubo. DN: 20 mm L _ _ Bojo tubo
R Ui 473 % Ua: 4.84 % 22 22 U: 005 % Ua: 0.11 %
=B =&
> >
F3 C
3 RZ1 0.6/1 KV 3625 41 'm '&\3
a | cale.: 16 A lz: 26.5 A
¢ O e
o Bojo tubo. DN: 20 mm L
z U: 548 % Ua: 558 % gz
o>
=
AIRE ACONDICIONADQ 3
g RZ1 0.6/1 KV 3G 10. 37 m
o | cale: 40.6 A, Iz: 85 A \‘3
e SN
o Bajo tubo. DN: 25 mm L
T 2 U: 253 % Ua: 259 % 2=
&
>3
MODULO_7_DIM >
Z3_TALL
RZ1 0.6/1 KV 36 15,20 m
Icale: 2 A Iz 20 A
& =
> Bajo tubo. DN: 16 mm
? U 0.53 %. Ua: 3.24 %
73 TALLI MODULO_8&_DIM
RZT 06/1 W 3615 20 m
lcalc: 2 A 1z 20 A
& <
= Bajo tubo. DN: 16 mm
R U: 0.53 %. Ua: 3.24 %
73_AULI MODULO7_DIM .S ZONA 3 ZONA 3
RZ1 0.6/1 KV 36 1520 m RZ1 0.6/1 kV 5 G 10. Puente 3\3 RZ1 0.6/1 KV 5 G 10. Puente
I calc: 2 A1z 20 A | cale: 39 A 1z 54 A | | cale: 39 A 1z 64 A
® - o2 S S
= Bajo tubo. DN: 16 mm .- _ _ Bajo tubo | _ _ dlaire
b2 U: 053 %. Ua: 3.24 % SZ 22 U002 % Ua: 0.05 % 22 U 0.02 % Ua: 003 %
38 p& &
] B
MODULO_7_DIM T 57 =7
Z3_AULII - ALUMBRADO 3
RZ1 0.6/1 KV 3¢ 1520 m / RZ1 0.6/1 KV 3 G 25 20 m
lcale: 2 A1z 20 A | cale.: 16.6 A Iz 26.5 A C.G.P.M L.G.A
® < = \\3— RZ1 0.6/1 kv 3 x 185 + 26 95. Puente RZ1 0.6/1 kV 8 G 150. Puente
Bajo tubo. DN: 16 mm Bajo tubo. DN: 20 mm - I cale.: 385.3 A lz: 450 A | I cale.; 385.3 A. Iz: 680 A
) 53 " e — " R
} U 0.53 %. Us: 3.24 % U: 266 % Ua: 271 % g3 L5 H B
£ ~ z S
=8 o __dare | ﬂ_fw l L crterrado bojo tubo
> S2 22 U001 % Us: 0.02 % ® g 22 U001 % Us: 001 %
= S o -~ o3 Te
Z3_ALM_TALL 38 &8 83 =8
RZ1 0.6/1 KV 36 1.5 20 m T x> > °
| calc: 0.7 A Izz 20 A ¢ =
& < :
Bajo tubo. DN: 16 mm -
$ 5
R U: 0.18 %. Ua: 2.89 % o
o
g
MD_3_DIM S
73_PAS_2 2
RZ1 0.6/1 KV 36 1520 m g
| calc: 6.7 A Iz 20 A
& <
5 Bajo tubo. DN: 16 mm
B U: 1.78 %. Ua: 449 %
DOMO3
B
q RZ1 0.6/1 KV 3G 15. 5 m
a I cales 1.1 A lz: 20 A \e
e O N
> > Bajo tubo. DN: 16 mm o
= 1 U: 0.08 %. Ua: 2.79 % g=
= -
>
=
ALUM EMERGENCIA 3
g RZ1 0.6/1 KV 3615 20 m
g ® | cales 87 A Iz 20 A \‘3
- =
e Bajo tubo. DN: 16 mm L
z U: 229 % Ua: 2.34 % N
=3
s
S
F4 A >
bl RZ1 0.6/1 KV 3 G 4 48 m
g O I cale: 182 A Iz: 36 A N2
- |
- = Bajo tubo. DN: 20 mm _
= ° U 4.54 %. Ua: 4.63 % 2=
=8
>
F4 B FUERZA 4
bl RZ1 0.6/1 KV 3 6 25 47 m RZ1 0.6/1 KV 3 G 10. Puente
2 O | calc.: 13.7 A 1z 265 A \\3 | calc: 50.1 A 1z 65 A
a - - x\ﬁ
< ~ Bajo tubo. DN: 20 mm _ __ Bajo tubo
3 U: 5.38 %. Ua: 547 % 2 € 2 U: 005 % Ua: 0.09 %
> o &
> >
F4 C
bl RZ1 0.6/1 KV 3 G 4 53 m
s O I'cale: 182 A Iz 36 A \‘3
- |
- ~ Bajo tubo. DN: 20 mm o
= 0 U: 5.02 % Ua: 5.1 % g-=
=1
==
AIRE ACONDICIONADO 4
2 RZ106/1 KV 2 x 25 +1 G 16. 53 m
B I colc: 812 A, lz: 110 A \‘3
e W
w 5 Bajo tubo. DN: 40 mm o
z 2 U: 297 % Ua: 3 % g =
5
MODULO_11_DIM [
74_COM
RZ1 0.6/1 KV 36 1520 m
| calc.: 6.7 A Iz 20 A
& =
5 Bajo tubo. DN: 16 mm
B U: 1.78 %. Ua: 1.94 %
74 SAL_MUS MODULO_10_DIM
RZ1 0.6/1 KV 36 1520 m
| cale: 27 A lzz 20 A
& =
d Bajo tubo. DN: 16 mm
B U: 0.71 %. Ua: 0.87 %
MODULO_10_DIM
Z4_SAL_TV C.S ZONA 4 ZONA 4
RZ1 0.6/1 KV 36 1520 m /‘ RZ1 0.6/1 KV 4 x 25 + 1 G 16. Puente 3\3 RZ1 0.6/1 KV 4 x 25 + 1 G 16. Puente
| cale: 27 A lzz 20 A 52 | calc: 52.3 A 1z 95 A | | calc: 52.3 A 1z2 95 A
® = é ~ ~
d Bajo tubo. DN: 16 mm s == Bajo tubo | _ Bajo tubo
7 U 071 %. Ua: 0.87 % &= €2 U001 % Ua: 0.04 % € 2 U 0.01 % Ua: 0.03 %
Iz m3 )
5 28 ]
MD_7_DIM > x> =
Z4_ASE_SI ALUMBRADO 4
RZ1 0.6/1 WV 36 1.5 20 m /‘ RZ1 0.6/1 kV 3 G 1.5, Puente
| cale: 1.7 A lzz 20 A | calc.: 186 A 1z2 20 A
® - A2
= Bajo tubo. DN: 16 mm __ Bajo tubo
B U: 0.44 % Ua: 06 % 22 U012 % Ua: 0.16 %
=S
MD_6_DIM ="
74_ASE_CI
RZ1 0.6/1 KV 36 1520 m
| cale: 1.7 A lzz 20 A
& =
5 Bajo tubo. DN: 16 mm
p U 044 % Ua: 0.6 %
24 PAS. 2 MD_3_DIM
RZT 0.6/1 KW 3G 15 20 m
lcalc: 2 A 1z 20 A
& =
= Bajo tubo. DN: 16 mm
P U 0.53 %. Ua: 0.69 %
DOMO4
K
q RZ1 0.6/1 KV 36 155 m
a Icale: 1.1 A Iz 20 A \‘3
O ST
] Bojo tubo. DN: 16 mm _
o B
= 1 U: 0.08 % Ua: 0.24 % =2
= o
S =
=
ALUM EMERGENCIA 4
g RZ1 0.6/1 KV 36 1.5. 20 m
T ® | cale.; B.7 A 1z 20 A \‘3
- =
w Bojo tubo. DN: 16 mm L
z Ui 229 %. Ua: 2.33 % 2
ES
=
F5 A
bl RZ1 0.6/1 KV 3 G 4 247 m
S O I'cale.: 31.9 A Iz 36 A \‘3
=
~ = Bajo tubo. DN: 20 mm _ FUERZA 5
=
= ¢ U: 409 %. Uo: 417 % 3 RZ1 0.6/1 kV 3 G 16. Puente
> | calc: 638 A Iz 87 A
=
F5 B Bajo tubo
B RZ1 0.6/1 kV 36 4. 232 m U: 0.04 %. Ua: 0.08 %
e O I'cale.: 31.9 A Iz 36 A \‘3
=
~ = Bajo tubo. DN: 20 mm _
z 7 U: 3.84 % Uo: 3.92 % g
ES
=
AIRE ACONDICIONADQ 5
g RZ1 0.6/1 K/ 3610.9m
5 I calc: 406 A Iz 85 A \‘3
e ]
o Bajo tubo. DN: 25 mm o
z ° U: 0.62 % Ua: 0.66 % g=
&
>3
MODULO_9_DIM >
75_AUL_ORD1
RZ1 0.6/1 KV 3G 15 20 m
I calc 4 A Iz 20 A C.S ZONA 5 Z0NA 5
® < RZ1 0.6/1 KV 5 G 16. Puente RZ1 0.6/1 KV 5 G 16. Puente
Bajo tubo. DN: 16 mm 52 | cale: 402 A Iz 73 A | cale: 40.2 A Iz 73 A
7 U 1.05 %. Ua: 1.15 % . S | A\E S
o _ Bajo tubo | __ Bajo tubo
= o = - - o = - -
MODULO__9._ DIM 82 82 U001 % U 0.04 % €7 U001 % Uo: 003 %
75_AUL_ORD2 ALUMBRADO 5 28 3 n S
RZ1 0.6/1 KV 36 1.5 20 m A‘Q RZ1 0.6/1 kV 3 G 1.5, Puente oz =7
| calc.: 4 A Iz 20 A | calc.: 89 A Iz 20 A
& =
o Bajo tubo. DN: 16 mm ___ Bajo tubo
B U: 1.05 % Ua: 115 % 27 U006 % Us: 0.1 %
XS]
>
- DOMO5
g RZ1 0.6/1 KV 36 15 5m
B
| N . Iz
OO cole.: 1A lz: 20 A \‘3
S - = —
o e Bajo tubo. DN: 16 mm _
2% U: 0.07 % Ua: 017 % g=
= >
S >
= ALUM EMERGENCIA 5
g RZ1 0.6/1 K 3615 20 m
g ® | cales 87 A Iz 16 A \‘3
- =
I Bajo tubo. DN: 16 mm
z " U: 229 % Ua: 233 %
HORNO
bl RZ1 0.6/1 KV 36 4 10 m
% | calc: 31.9 A 1z 36 A P
tO— 2
N Bajo tubo. DN: 20 mm s ==
= ° U: 1.66 % Ua: 1.7 % ST 22
38 o8
> x>
LAVAVAJILLAS
ol RZ1 0.6/1 KV 56 25 7m
g | cale: 6.1 A Iz 23 A Iy 52
O SN U ]
- . Bajo tubo. DN: 20 mm e ==
I U: 0.18 %. Ua: 0.22 % IS
3B s
> w
> T
FREIDORA z
3 RZ1 0.6/1 W 56 25 89 m
g | calc: 6.8 A Iz 23 A
B O N =
o 7 Bajo tubo. DN: 20 mm
z ¥ U: 025 % Ua: 0.3 %
- ESTRACTOR COCINA
3 RZ1 0.6/1 V5 G 10. 9.6 m RZ1 0.6/1 KV 4 x 35 + 1 G 16. Puente
a | calc.: 40.6 A Iz: 54 A 52 | cale: 98.7 A Iz 119 A
N @ - = - ~
o Bajo tubo. DN: 32 mm ___ Bajo tubo
= 1 U: 0.33 % Ua: 0.38 % 27 U001 % Ua: 0.05 %
= N3
%8
==
CAMARAS FRI >
] RZ1 0.6/1 KV 56 6. 98 m
& O I cale.: 36.1 A Iz 40 A
< =
8 =" Bajo tubo. DN: 25 mm e =
z 3 U: 0.52 %. Ua: 0.56 % 32 g2
38 w8
> w
= T
F COCINA TRIF >
bl RZ1 0.6/1 W 56 25 99 m
g I cale.: 46 A Iz 23 A N2
O SN
< . Bajo tubo. DN: 20 mm
3 U: 0.19 %. Ua: 0.24 %
F COCINA MONO
g RZ1 0.6/1 kV 3 G 1.5. 107 m \\3
a | calc.: 6.8 A 1z 20 A
: O— ="
o 7 Bajo tubo. DN: 16 mm
z Ui 1.02 % Ua: 1.07 %
- LAVAD—SEC 1
g RZ1 0.6/1 KV 5 G 6. 6.4 m
a | cale.: 316 A Iz 40 A
L o— W= T
5 Bajo tubo. DN: 25 mm P C.S ZONA 6 ZONA 6
z ! U: 0.29 %. Ua: 0.35 % et BT RZ1 0.6/1 KV 4 x 95 + 1 G 50. Puente RZ1 0.6/1 KV 3 x 70 + 26 35. Puente
385 R 52 I cale: 1612 A Iz 224 A | AE | cale: 1612 A, Iz 230 A
> Tx _p—
~ )
LAVAD—SEC 2 2 s = = Bajo tubo | _ _ alaire
g RZ1 0.6/1 KV 5 6 6. 10 m oi 2 i U: 0.01 % Ua: 0.03 % 2 1 U: 0.01 % Ua: 0.03 %
a | cale.: 316 A Iz 40 A =2 52 328 g% g%
=y @ " S\ U ] > z> x>
P Bojo tubo. DN: 25 mm s =2 LAVANDERIA
z ! U: 0.46 %. Uo: 052 % R RZ1 0.6/1 kV 10 G 6. Puente
ERCEESEN | cale.: 63.3 A lz: 80 A
= 2> : S
F LAVANDERIA - - Bajo tubo
bl RZ1 0.6/1 W 36 15 88 m 7 U 002 % Ua: 0.06 %
S O Icalc: 9.1 A Iz 20 A \‘3 52
= — =
~ Bojo tubo. DN: 16 mm L >
= T3
R Ui 112 % Ua: 118 % g =
E
=
FUERZA 6 OTROS
3 RZ1 0.6/1 kV 3 G 1.5. 183 m \\3
g Icale: 114 A Iz 20 A
2 O SNER S
o Bojo tubo. DN: 16 mm o
z 7 U: 291 % Ua: 2.97 % 2=
o>
=
- ALUMBRADO 6
8 RZ1 0.6/1 KV 3G 15 20 m
2 ® I cale.: 8.1 A Iz 20 A \‘3
- - -
£ = Bajo tubo. DN: 16 mm o
Z % U 214 % Ua: 217 % g=
= o
s>
ALUM EMERGENCIA 6
g RZ1 0.6/1 KV 3 6 1520 m
B ® | cale: 87 A Iz 20 A \‘3
- =
o Bajo tubo. DN: 16 mm _
z U: 229 % Ua: 232 % 2

W9 gl
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